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'@’V‘ﬁ*(%“‘)’o\:ﬁ Equation of a Circle - Skills

| 1 Find ’rhe centre and radius of each of the following circle equations

) x2+ y? =36 b) (x+2)? + (y+5)? = 64  ¢) (x-D? + (y+7)? = 25
! (x- 03%03—033: o (x- -0+ (y- - 5)a g* (- (y--N*= 5>
| centen (0,0) =1l Covten (-9) =% Conken (H,-7) v=9

d) (x-2)2 + (y-5)2 =49  e) (x+3)? +y?> =16 f) x> +y?+10x + 8y-40 = 0!

(x=2)*+ (y-9)*= 7% (x--3)% (3—035‘:4& X+ 10w+ Y+ By =40 w\iﬂ’:

(x+5) (\j =49 (”6,'l“> :
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: Comnkex (a) o) =T condex (“3) O> =4 (x--O)~+ O\’J“ PP =72 =T
| 2) find the equation of each circle below in the form (x -2 + (y - £)2 = r? :
' a) Centre = (8, 7) Radius = 3 b) Centre = (-6, 2) Radius = 10 !
L e8Py =1 (x+10)%+ (y-2)"= 100 :
1
i c) Centre = (-3, -5) Radius = 12 d) Centre = (-05. 3) Radius = V3 !
! (x+3)*+ (y+5)* = 44 (x+ 0.8+ (y-2)% = :
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| (x=3)2+ (y+1)*=9 (X+Z)7’+(\5—l3a:lko !
| 3) Draw the following equations on the on the cartesian grids below |
L) x%+y?=25 (74’031*'(%'0)}‘53 b) (x - D? + (y+2)° =4 (x- l)g\ﬂ—(g—— 3 7
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Sl e TR

oV
+ND(x-3)=
x244x—21 OO0 LNy
e OF 2 x4 j L0+ (20-14 14% DT -3
N R =T
RS- i T A OL to-a




